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Note: Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper. '
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Answer any five questions. All questions carry equal marks.

Use of simple calculator is allowed.
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1. A survéy on marital status of 150 persons shows that of

the 68 males, 40 were single and 10 were divorced. Of

the 50 married persons 36 were females. Among the
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females only 1 was widowed and 7 were divorced.

Tabulate the above information 1n percentages.

o waeaw 150 S ¥ g e ww 6 gE @ e
68 Teu & & 40 firmer & 3T 10 FenERREE SO FaTiRd St
H 9 36 ufemr of | wfzenatl # @ awr 1 faan off 3 7
A |
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2. (a)

(b)

(=)
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Data for rainfall in 2 districts reveals that they
have respective means of XA - 1495 mm and X3z
of 1875 mm and standard deviations of Sp 280
mm and Sg of 310 mm. Which district has greater

(i) absolute dispersion and (ii} relative dispersion.

The mean and standard deviation of a sample size
10 were found to be 9.5 and 2.5 respectively. Later
on an additional observation became available.
This was 15.0 and was included in the original
sample. Find the mean and standard deviation of
11 observations.

2 forat it ant & 21 & ogER I g T 3T
igd ged FuT: X4 1495 B sf Xp 1875
firfiy 2, qon wees formraw S, 280 R 3 Sy 310 Tl
2 e & 8 sfuwam () s famem gan
(if) e formem 8 7



(@) 10 aed} % wfeer =1 2fwa 9.5 aon AW famed
2.5 T4 g1 918 | T & 311 9 3T | 98 15.0
o1, 34 difes gid=rm 4 vl #= f w1
et o1 3ftea 9y A famem 3@ e

3. The number of people living in different sizes of
residential plots in a residential colony in a city is given

as a percentage of the total population of the colony.
TR & T Mariasd uaw § e Smeer & yaved §
T Al e 1 foeen, g Paifiet % wfves & w9
AR

Size of plot (sq. mt) % of residents
EUE i HTFA Franfirt = wioema

Glzicy

150-175 21
175-200 11
200-225 19
225-250 21
250-275 10
275-300 6
300-325

325-350 4
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(11)

®

(i1)

If the total number of residents is 3150, how many
live in plots below 250 sq. mts. and how many in
above 325 sg. mts.

Calculate the standard deviation and indicate the
percentage of residents living within one standard
deviation of the mean, _
I g Franier & 5@ 3150 2, 99 7 fild fe
forem Frameft 250 ot Hiet @ 3R yEve & @, i
fora 325 ol Hien B arftrr F quve A @A & 7

e e sma i, it sted @ o o faaem
T 1 et Fanfeat w6t witrd s

4. Fit a normal curve to the following distributions plot

both curves.

e M R w ym= 9w Tulfe Skt 95 5%

difed |
Class interval | Frequency
(cm) @ | (Sroawa)
11-20 12
21-30 28
31-40 40 _
41-50 60 X =437
51-60 3 sd.=14.79
61-70 20
- 71-80 8
200
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5. (a) Calculate, the mean centre of population

distribution of the 5 villages.

(%) wd S et ) SEE W 5 T i |

Village | Location | Coordinate | Population
X Y ‘
A 2.2 3.2 450
B 1.9 2.7 400
C 3.1 2.8 580
D 42 34 600
E 2.9 4.6 720

(b) Using the given distance matrix and population
given in part (a) suggest the ideal location for a
school for the villages.

(@) 42 & 7 arfers wd wm (a) § T SEEn &
AR R a1 o o U The ¥ I T =

it |
Villages Distance in kilometers
RG] - gl (Feenfrea )
A B C D E
A - - - _ _
B 5 - - — -
C 8 6 — -
D 5 4 7 - -
E 4 5 8 7 -
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6. Calculate the regression coefficient for the regression of

Agricultural Production on Fertility Input, data for

which is given below. Find the estimated agricultural

production when fertility input is 10,

£ foit T3 et & ey W H oo i I Fam
9 gHIHE O F1a FIRR | s I Faw 10 § @@

gt Y Ieaaear w0 gt ?

Agnicultural
Production | g8 | 10

Ff Tea

12

10

il

12

13

14

15

Fertility
Input 212
Zatar faw

7. The following data relate to the prices and supplies of a

commodity during a period of 8 years. Calculate

Spearman’s Rank correlation coefficient.
ffafaa sm@, ame auf & v ward & Il awn amyfd
¥ wettrg &t wfida w1 w firaan wewsy Qe 3@

Fife |

Price R/kg)
T ey |19

12

18

16

15

19

18

17

Supply (100 kg)
AR (100 f) 30

35

45

44

42

48

47

46
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8. Writeon:
(a) Importance of Positional Averages
(b) Spatial Random Sampling
(¢) Ordinal Scale Data
frafafgn w fafau:
(a) Teurfem s o1 a8
(b) wufes TgfEss yiees
(c) UGS Y H TR
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AREAS UNDER THE NORMAL CURVE
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